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.I . -,,  ,(’ I

“ ’ E Xi = 41.9 Zyi = 41.4

zd = 327.79 x$ = 163.26

Z.xiyi = 143.59

R&-V = 2.3893

X&i-P =2.?771

Zt&-FJ&i--5) = 1.7286

“7  = 160.4829

Simple Regression Model : Y = fi,,  +/l,x  + E

filt?U@I bb = $0 = 1.2203 uQ:

b,  = 8, = 0.1235

1) WIU’UU  Prediction equation H&I  Fitted regression equation

2) w,~u~,r7Jtiir’n~rd

S.V.

Regression
Error

Lack of tit

df.

ANOVA

S S M S fc  -,

fl = 9.8318

* .
f2 = .8294

Pure error

Total

0.7066 i

3) OWII~~~ANOVA%&U  2) Q~fldcz  = 05  ’

n)  Ho:/31  =o
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11 9 14 6

Total : T, xl 40 a 45 G = 195

klG3Il:g 10 8 12 9 74  = 9.75

T;’ 2x0 1600 3600 xl2 9725

sf 7.5 4 3.5 5 20

1) VJVl@ltYf~ll~  a = .05, Ho : 4 = & = 0: = d laui!  of IilU *

population variance UoJJilnfullUni~Wd~~,nt”:~J~n5~  i, i = 1, .:.., 4 hJl$

%USJ Co&ran (fhHU@t~hl~  Reject H,, &il%~J~X%lMfOU  G ihnnndi

BC.  4).  .05 = 0.6287)

2) wanl5nmrouoln  1) ch5lb.kliul5n  reject Ho k?  OJnRtiOLI~  a =

.osi,Jiu7orduni~wii*l~~",~~"~,n,"~~~~n5~J41n'ln'wnua  11a~t51npl1A'

ns'olJi~~n~o~o'n5~43J5~dnininluniswiilsatd7  qfYu
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2.
(ji, -fz)-do

2=
Jsh  +&n2

.

5. SST = it , (yI-g2  = Zyf-(Iiyi)2/ll

SSR = blip  , (x, -%)  (y,  -9 = bl  [&Y,  - 1x3  Zyi/n]

6. (1 - aj 100% conhdence interval ‘IID4 &a: dQ

7. Co&ran’s  Lest  statistic : G =
largest SZ

t , t = hJm+.l

1 sf
i=l

1
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1) ft.  Ho : a: = cr: Y. Ho : p,  = /I~ = . . . = p,,  t > 2

2) parameter, 2 ii Fi0  point estimation ttilz  interval estimation

3) ft. point estimate 91. Sampling distribution
I

4) HI (alternative hypothesis)

5) Ha : ~1 = ~2, Ht : 91  > br , one-tailed test

z , Chi-square distribution, df = n - 1
UO

7) Analysis of variance (fl15iln5l~:An?lull~srJ57u>

8) fI.  fit distribution dtYUl2

TJ.  fit proportions 1~  multinomial distribution

9) t-distribution , df = n-2, two-tailed test

IO) nntiouri?~u~$u&fsz  (Test for Independence)

2. 1)  Ho  : o: = 0:

H, : a: < OS

a = .05

CR : F < fo.  8).  .S  = ,396
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(b.  8).  .95  =  fc8’9,  ,05  =  -& =  .3096)
. *

sp  = (nl  - 1) S: +  (nz  - 1) s:  = 9(3200)’  +  8(3700)2*
nl+n2-2 17
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4 . 1) “y = 1.2203 + .7235x

2) SST = Z&i-3’  = 2.7771

SSR  = bl X(X-I)  @i-j)  = (.7235)  (1.7286) = 1.2506

SSE = SST-SSR = 1.5265

SS(lofI = SSE -SS@.e.) = 1.5265- .7066 = .8199

ANOVA

S.V. df.

Regression 1

Error 1 2

Lack of fit 7

Pure error 5

Total 1 3

ss

SSR = 1.2506

SSE = 1.5265

SS(lof) = .8199

SS(p.e.) = .706l

SST = 2.7771

MS = SS/df  1 f
I

1.2506 1f - ,1-25@5  -
.I272 9.8318

.1272

3) 91f1fllnd ANOVA  h&J  2)

n. Ho  :B, = 0

HI:/~I  f 0

a = .OS

CR : F > f(l. 12). .os = 4.75

f, = f, = 9.8318

.: fl = 9.8318 > 4.75 (mftlW  CR2  mdf&fli HO 4 a = .OS  t.bdo  81  f 0

nio  Y &~fh  x

U. Ho  : There is no lack of fit

HI  : There is B lack of fit

a ’ =  .05
,’
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CR : F > f<7,  5,. 05  = 4.88

f, = fz  = .8294

5 . 1) Ho  : a; = = rr;

HI  : a~?hw’lfh~~~n, i = 1, . . . . 4

Q = .05

CR : G > .6287

gc =
largest 5:

xsf
=7.5=  ,375

2 0

CR : F > f<j,  16).  .OJ = 3.24

N = 20, t = 4

CF  = q = 1901.25

SST = 1995-  1901.25 = .93.75

SStr  +L 1901.25 = 1945-  1901.25 = 43.75
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S.V. df

ANOVA

ss M S f

Treatments 3 sstr = 43.75 14.5833 fc zz k?lw
3.125

= 4
’
667

Error 16 SSE = 50 3.125

Total 1 9 SST = 93.75
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